o

pdall das Y

D b el 110 el

a=130 =10 +15
c=25+6x%5.1
e=3x100-2+10+5

g=25x(5+25)+48 +(34-28)

1=2+3 xX15-4-2+1%x7
k=12+(3+2) x4-4%x 5
m=(11-3x2) (2x2+1)

:b=55-3%x7
:d=23-2x5-1
f=(4+6)x25+5x(11-4,5)
h=3x[9-(B+1)x2+12]
;j=254+8+ 4+2 x2-1
1=25-[3x (6-2)+2-1]
n=16-(12-(6-(4-3)))

o La Gl 120 el

A=25+(3+1,5)x0,5-4
B=3x[30,5-(11+43)]
C=(11,5-25)%(14,7+0,9)
E=[11,5+(41,5-20)-(27+1)]
D=(325-21)x[14-(13,5-92)]

E=125%X(0,2%x100+8)-2,5% 10
F=96+83+10+6x24-5
G=5X[3+(98+100+20)-12]+8 %7
H=125-[74+3X8—-(11-(25%X2-4)%x2)]

6(24 +..)=6X..+6X%x11

23X ... +..%X18=23(95+...)

..
27

3X .. +...

X13-..X..=3X%X(10 + ... -

Dk Lol a3 Cauiall sl aail & @l ey 8 Jasl 130 el
..(8-5)=73%X..-73X%x5
17,4 33,6 - .. X 14=.. (.. - ..)
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2)12-2x3-5=25;
4)2x10-5+3=4.

1)54+3+5x%x2=21
3)5-2x3+7=30
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2) (15-(5x2))x(2x2) = 20. 1) (5+(3x2))x2=22

L)+ =11
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adnanemath@gmail.com Lo SI g





